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1. The past tense of rewind is
(A) rewinded
(B) rewounded
(C) rewound
(D) None of the above

2. Fill in the blank with the suitable option:

She _ from the bus and walked to
the back-gate.

(A) boarded
(B) stepped
(C) moved
(D) alighted .

3. The word ‘claustrophobia’ means
(A) fear of darkness
(B) fear of crowds
(C) fear of confined spaces
(D) fear of water
of the word ‘capable’.
(A) Uncapable
(B) Noncapable
(D) Incapab
5. Fill in d@ with the right option:
- _He ed__________ me unjustly.
@
) for
with

4. Add a suitable prefix to form @i
(C) Ill-capable
(D) towards

6. Choose the right word for love of oneself.
(A) Hedonism
(B) Masochism
(C) Narcissism
(D) Sadism

7. The serenity of the place overwhelmed me.
Replace the underlined word with a suitable
(C) Isolation

word.
(D) Seclusion & §

8. The idiomatic expréssion ‘make both ends
meet’ means
(A) getby

(B) geto
©

(@@
Ch rd ‘officious’ means

4) self-important

(A) Noiselessness
(B) Calmness

\ (C) serious

(D) enterprising

10. Selectthe correctanswerto fill in the blank.
The ship, with its crew, lost.
(A) were
(B) was
(C) were getting
(D) was being

11. Convert the given sentence into an
interrogative sentence:

I will meet you tomorrow.
(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?
(D) When will you meet me?

12. Fill in with a suitable preposition:
He is taller than you two inches.
(A) with
(B) of
(C) in
(D) by



13. The word vicissitude means
(A) change
(B) stagnation
(C) uniformity
(D) stability

14. The idiomatic expression, once in a blue
moon, means

(A) rarely
(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird is
(A) Normal
(B) Casual
(C) Tired
(D) Worried

16. Select the correct spelling:
(A) Accommodition
(B) Accommodation

(C) Accomodation
(D) Acommoda%
Which is the t sentence?

(B) cd person was seen roaming
¢ streets.
p one eyed person was seenroaming

ul the streets.
D) One-eyed person was seen roaming

‘O

17.

aboul the streets.

18. The antonym of the word superficial is
(A) Deep
(B) Antificial
(C) Apparent
(D) True

D\

>

oralistic
@ sanctimonious

Mry
19, ahhn'?sc the righloptinn- al
ile ] L
threw a ball throner —— M the liby,
a lhrnugh the Window ary, $0megpe

(A) was Sitting
(B) was scated
(C) had been sittin

b4
(D) am sitting

20. A place where beag/
(A) Aviary

kgpt—.
(B) Abattoir
(C) Gran @9
(D) Api

21. The I olier than thou’ means
u

(

igious

Fill inthe blank with the suitable preposition:
He presided
(A) over
(B) at

(C) in

(D) for

the meeting,.

23. ‘La Gioconda’ (Mona Lisa) is
unique work of art.
Fill in the blank with the suitable article.
(A) the
(B) an
) a
(D) this

24. The synonym of supercilious is
(A) officious
(B) superficial
(C) delicious
(D) haughty

25. To feel 'under the weather' means
(A) feel depressed

(B) feel uncomfortable
(C) feel unwell
(D) feel uncertain
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26. Whatisthcnmxim "
that can be qvailed by 2

l‘,
Gatidhara Scheme!

000
(A) Rs. 50‘

(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

idy
overnment Subs!
um(;:eﬁcial')’ under the

27. Mansab means
(A) A rank or office
(B) A military general
(C) A grant of revenue free land
(D) A religious text

28. When was the University of Calcut
established? C

@) 1911 @Q‘Qﬁ@,

(B) 1817
(C) 1854
29. Who wrote malyada?
(A) Raj@la
(B) dhana
© aya
&Kﬂshnadeva Raya

(D) 1857
30. Who had designed the first Indian Natjonal
Flag?
(A) Vicoji Rustam Kama
(B) Annie Besant

(C) Sarojini Naidu
(D) Sister Nivedita

D

26. *F5 TR ‘AfSutar e
@mmwmﬂwﬁ@tﬁﬁcm
(A) 50,000 Brt
(B) 1,00,000 Sr
(C) 2,00,000 Bz

D) 5,00,000 St @

LT
glech

8, ﬁ%ﬁmﬁ’sﬁwmﬂm Ao =
(A) 1911

(B) 1817
(C) 1854
(D) 1857

2. ETE-7 5kt e
(A) TS o
(B) T
©) ¢Ray
(D) T3 W

30. WWWW%WWW?
(A) Tot& w2y
(B) =i =g
(©) el gy
(D) SRt fgafe
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31, Government of India passed the Act to 31. S I
ot h;lgn;gn e ninyess T SRR iy it
(A)
(B) 1993 (A) 1990 i
(C) 1995 (B) 1993 ey
(D) 2002 (C) 1995 it
(D) 2002 3=

&

32. Judgesof Supreme Court retire at the age of 32. 8w @G Rog ™
(A) 60 years (A) 60 ww\ ’
(B) 62 years
(C) 65 years ®) 623
(D) 70 years

A

33, Which Medieval ruler introduced Ain-i- &@a TR S Hiz-3-7e s

Dahsala‘i Bl %ﬁf&?{?
(A) Balban (A) T

(B) Feroz Tughlaq o
(C) Sher Shah @9 (&) PR g
(D) Akbar Q‘QF (©) TR

(D) w7

an Constitution ensues 34, ©IR AR 21 72 Lo 6T TR
QR on (A) 4w 7ior stz |
peess of Law (B) 31 qUAY A% |

Riglit to Life and Personal Liberty
) edure established by Law (€) &8 Tﬁ@ FATor wfiwy |
(D) wizw 6% AR %S |
35, Khutba was 35. Y3tz we ==
(A) asermon read in the name of the ruler A) @
at Friday prayers. (A) EW@‘”@l A AN T AT A1 ARRS
(B) aroyal order.
(C) a religious decree. (B) FMerIw Sicetamay |
(D} atax. (C) 4&m wCastam |
(D) 36 37

Please Turn Over
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36. In West Bengal,l Eprort Processing Zone
(EPZ) has started functioning at
(A) Raichak
(B) Falia
(C) Kakdwip
(D) Haldia

37. The waves produced by motor boat sailing
on water are
(A) transverse
(B) longitudinal
(C) longitudinal and transverse
(D) stationary

38. According to the Census of India 2011,

which one of the following Union Territories had
the highest sex ratio? (

(A) Chandigarh
(B) Puducherry
© Lakshadweep
(D) Daman and Diu

40. The Hindi film ‘Padman’
. man’ rele i
Was inspired by the trye life story Ofased 12018

(A) Amnachalam Mumgananﬂmm
(B) R. Balkj

(©) Akshay Kumar
(D) Bindeshwar Pathak

A-6

N

D

36. «f*saITH

(EPZ)-93 TRRFTR Saeirs ai
(A) FTEE
(B) F=ToIm
(C) TRl
(D) =z=waAE

- SRS WIS 2011 Wi, RRe
ST i e sete At
(A) vSIG
(B) IR
(©) =rwrEie
D) 79 @ fig

39. ARSI o Besitwrenit CereTt 2o
(A) Irper
(B) 5w 355w
(©) Irgw
(D) =flemt

(B) R. Balki
€5 Akshay Kumgr
(D) Bindeshwar Pathak

‘Export Processing Zope®

[ ———
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36. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

(A) Raichak
(B) Falta
(C) Kakdwip
(D) Haldia

37. The waves produced by motor boat sailing
on water are

(A) transverse

(B) longitudinal

(C) longitudinal and transverse
(D) stationary

38. According to the Census of India 2011,
which one of the following Union Territories h
the highest sex ratio?

(A) Chandigarh
(B) Puducherry

(C) Lakshadweep
(D) Daman and Diu

39. Mica produci

of West Bengal is
(A) Banku
(B) P aman
(©) Bi
D

40. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of

(A) Arunachalam Muruganantham
(B) R. Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak
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36. =i ‘Export Proces
(EPZ)-a3 Tiff=fe= s@eite wb
(A) FTSTE

(B) w=mom

38. SIAST WA 2011 WL, AR
EMI See it Fer srsie sy
(A) 599G
®B) “ToE
(C) ===
(D) w3 ¢ fre

N

39. “ARGNITHT S TerimaR ool 2=
(A) diFel
(B) ~ifex qfsim
(©) Fagw
(D) =zfem

40. 2018 (S *iheT ‘sfrou’ R Fe=i 3=
SR 9] B Wiy, R g

(A) Arunachalam Muruganantham
(B) R.Balki
@2y Akshay Kumar

(D) Bindeshwar Pathak

Y




41. NRC is now in form of a
(A) Draft
(B) Bill
(C) Act
(D) None of the above

42. The responsibility for printing currency
notes in India lies in the hand of

(A) Ministry of Finance
(B) Prime Minister’s office
(C) Reserve Bank of India
(D) State Bank of India

43. Inter-state council is formed by the
(A) Prime Minister
(B) Parliament
(C) Chief Justice of India
(D) President

44, ‘Letters from Burma’' is a of essays
penned by
(A) Aung S
(B) Ras ose
(VI a Chattopadhyay
andra Bose

45. The following coastal area of India was
affected by ‘Hudhud Cyclone’ :

(A) Chennai coast
(B) Kerala coast
(C) Andhra coast
(D) Bengal coast

4%@8

MTS/21
41. SRR TSR
(A) Wl AL
@B) =
(C) =iZA

(D) TART @RS =1

@

(B) AAGro-a7 aldl
(C) ©rred Ay [oavifes vl
(D) AGATS wrt

44. “Letters from Burma’ S13A 2% A& 800
G [&T]

(A) =g A7 A o

B) IR I

(C) *ASH GLBIAIGT
(D) [Siaveg 9]

45. ooy FRERe Ssigam waet o
RIS -97 Tt 2eifs ¢

(A) AR Baga
(B) A Torge
(C) o= B

(D) T G
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46. Under which amend
Constitution the voting agere
(A) 60th
(B) 62nd
(C) 61st
(D) 63rd

ment of the Indian
ducedto 18 from21?

47. The largest IT company in India is (as of
June, 2021)

(A) Wipro

(B) HCL Technology
(C©) TCS

(D) Tech Mahindra

48. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 20207

(A) Virat Kohli

(B) Sikhar Dhawan
(C) Suresh Raina
(D) Rohit Sharma
a slave before he

49. Which Sultan was
ascended the throne?

(A) Qutub-ud<in A

(B) Iltut
(C) Al : ilji
) @b

50. Jo hR. bi N .
of the USi:pbe ovinette Biden Jr., the 46th President

longs to the political party named
(&) Republican Party

©) Democratic P
(D) Naﬁﬂnalist Party

46. SIS AL @1 Aeyz
A 21 (T IR 18 =71 2772

(A) 609w
N

(B) 6297
IT r=iiffe

QR Coithy

(C) 6199
(D) 6395

47. T, 2021
z&

(A) Wipro
(B)

H Y
[@b:[ahindra

©

2(

q (T TS e
(A) Rals
B) Fra7 e
(C) =t =
(D) @RS =

49. T et et it g st i
Tt w12

(A) TR wizes
(B) Torgefim

(C) WS Rerfs
(D) TeTm

S0. Joseph Robinette Biden Jr. T R

TOME 8v-0T A1 B 1 T o
A=A

(A) Rt o
(B) =arg ~iif

(©) coriTEs -t
D) TRIERS syfts



51, ‘Chipko Andolon’ is known as
(A) Feminist Movement
(B) Tribal Movement
(C) Political Movement
(D) Caste Movement

52. Punarbhava and Atrai are the distributaries
of the following river :

(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak

53. If the length of the filament of a heater is
reduced by 10%, the power of the heater will

(A) increase by about 9%
(B) increase by about 11%
(C) increase by about 19%

(D) decrease by about 10% ?\ @9

&

is an important

55. The velocity ratio of the hour hand and
minute hand of a clock is
(A) 1:12
B) 12:1
C) 24:1
(D) 1:24

MTS/21
51 ol AR B sifafps
(A) [T SCwEm
(B) ToiErSIy STHiER
(C) TSINST STHEH
(D) EIEATS STHEAA

N
52. memm@ﬁmmg

(A) coift
(B) o
<)

(D) @
2oiaa ST ) 10% <91, ZoiEs

(A) ST 9% AT |
(B) S 11% QIS |
(C) ST 19% QAR |
(D) ST 10% T3

54,

Mgl fafRe wwer a3 ewesd
[SIEE

(A) oz Bopiiera

(B) 3w I-[ef

(C) e Boiga

(D) v9e1 ToAwa

55. wi%rs v 3 @ Rfiea #om AREeR
TS TFH
(A) 1:12
(B) 12:1
(C) 24:1

D) 1:24

Please Turn Over
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iti i 56. ‘Poverty and Unbritish Rule in Indiy’ 2
56. Who wrote ‘Poverty and Unbritish Rule in
India’? TSl P
(A) Ramesh Chandra Dutt (A) ACHEH W&
(B) Dadabhai Naoroji (B) TSR TSRS
(C) A.O. Hume (C) 9. e, Bew
(D) Amartya Sen D) 5 G
57. What was the original name of Titumir? 57. g ?
(A) Syed Amanullah Khan (A) TR
(B) Syed Mir Nasar Ali (B) I
(C) Syed Amir Ali
(D) Syed Mir Muhammad Khan (€ < el
” > SRR LT

was it issued in colonial Indi ?
ndia ) SIS RS T30

(A) Adecreetoprevent olitic
during the World War al%f (A) 9ol & T aaw fReageaa sy
(B) A regulation to i English mmﬁﬁﬁml
education in schools r 1857. (B) aﬁ%ww 18577 itz Rwyterm
(C) A decree 1o restrict yse arms by 2RG FRewrg 25 95 |

Indian citizens nial India from (C) 96 o 2t 1919-97 »17 SR

58. What was the C i {Q 3
at was the Carlyle Circular and \%§ 58. ieizE ’ﬁ@lﬁ It O« IE L)l @ﬂﬁﬁﬁ‘a

1919 onwards.
R IAY) g
(D) Adecree ntnationalist protests D) wom SR 37 i T
amongst nts in educational (D) 9 fofF = e e [{end)
g’@ uring the Partition of WISRSRIN wierer wraw@ion
' SR QY TR Bowist et 7w

) 59. The Sundarbap

. 18declared a5 ‘Ramsar site’

59, w—wmm’mmww

(A) 1987 (A) 1987 51
(B) 1972

& 1072 (B) 1972 81w
(D) 2019 49 2018

(D) 2019 R%5e=r
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60. Who was known as the ‘Sher-i-Bangal’?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah

61. The names of Sidho and Kanho are
associated with which rebellion?

(A) Chuar rebellion
(B) Sannyasi rebellion
(C) Santhal rebellion
(D) Kol rebellion

62. Who was the Mughal emperor during the

Revolt of 18577

(A) Aurangzeb
(B) Mir Qasim
(C) Bahadur Shah 11
(D) Sarfaraz Khan
Committee

63. Members of the Public A
are elected by
(A) Preside
(B) Speak
T rs of the both Houses of
a t through the method of

ional representation by single
sferable vote.

D) Prime Minister

64. Neeti Ayog was formed on
(A) January 1, 2015
(B) January 1, 2016
(C) January 1, 2017
(D) January 1, 2018

MTS/2]1
60. ‘CA-2-HIE T &0t 57

(A) TEeE F

(B) Q& sz5m T2

(C) GTEI SN T ST

TR GferER
(D) &®

(A) SNSTHEI
(B) fra 3P

(C) s argma =Nz
(D) =FTas

63. AT SHCTA TRB swopa Ffipe =
(A) YR ==
(B) A3 7z
(©) ARNGTST Corarsa TogoR @I

R T =iifes afsfiag amieg
ST |

(D) === arm

64. Tfe-wmamst e o

(A) =& &R, 2015 iy
(B) =iwel e, 2016 wifage
(C) =l s, 2017 wifEey

(D) 7= SeEat, 2018 sifary

Please Turn Over
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65. The solar cooker works on th

inciple as
Pnnc:P:A) Bolometer
(B) Pyrome!cr
(C) Greenhouse
(D) Solar PV cell

66. Mukutmanipur Dam is located across the
following river :

(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar

(D) Kangsabati

67. Dubbed as the Daksh
the South), the largest river

(A) the Godavari
(B) the Cauvery

(C) the Penganga
(D) the Mahanadi

ina Ganga (Ganges of
of South India is

4@’

69. Sandhyakar Nandj wasthec
(A) Mauryas
(B) Senas

(C) Hussain Shahis
(D) Palas

ourt poet of the

A-lL

(A) cotmrd 77
(B) i3St A1
(©) cosrt
(D) wxy=mt

68. THET Y oI A /AT T TR ¢
(A) I ey

(B) Biet Aty
(C) TS Ay
D) Rems3 Migreg

69. WA TR @ AR TFSRH g 2
(A) G ArEee

(B) G arwres
(C) =% e

(D) =fi# Freraesy
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70. ‘Perseverance’ rover was successfully
janded by NASA on the surface of

(A) the Moan
(B) the Mars
(O the Jupiter
(D) the Sun

71. Who won the French Open in 20217
(A) Rafael Nadal

(B) Stefanos Tsitsipas
(C) Daniil Medvedey
(D) Novak Djokovic

72. Which is the Direct Tax in India?
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

73. Thenewstationcons

tablished
by India in March, 2012 for ic research in
Antarctica is called
(A) Priy ini
(B) B

(C
(@n in Gangotri

74. The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

mI5/2]
70. ‘Perseverance’ JTA IPT-(fFS cromf o
IR AT AN TS T TG, ) 73
(A) W

(B) XA
() T
@)

71. 2021 ATA T mﬂﬂ&m &?

73. W6, 2012 A W SN & Sige
mmmmmm

(A) PR
(B) ¥

(C) &

(D) wFw s

74, ﬁﬁﬂ'ﬂtﬂﬁmﬁg:{mm?
(A) “higw =i
(B) m=ioe oy
(C) =i By
(D) ¢Mow ©g

Please Turn Qvey
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78, Who is the
(;‘nmlinuiun'.’ ‘
(A Pn:‘suh‘llt‘
(B) Vice-President
(C) Parliament
(D) Supremc Court

ian
custodian of the Ind

76. Started in June, 201‘4 by th.e Unim?
Government of India, th-c Namami Gange
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

77. The power of a lens is +2.0D._ The focal
ength of the lens and its nature are

(A) 50 cm, concave
(B) 50 cm, convex
(C) 100 cm, convex
(D) 100 cm, concave

ari Bose

(A) Deshbandhw)Chi taranjan Das
(B) Muahade nd Ranade
(C) z@ han Bose

79. Who was the editor of
newspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta

the nationalist

C@;ﬁ GFG ETHT TSt 4+2-0D |

>
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75. SO Wi (it
- od
(A) 7BIfs an) e,
(B) To-zPify
(C) =irefizary
(D) few it @
76. 2014 F w T Ty

N 2w ==

CTH0R @l
G oS =

(A) 50 cm, SToe

(B) 50 cm, Tes

(C) 100 cm, Tws

(D) 100 cm, IS

78. “3fem
=
(A) TRy Bozem wr
(B) IR ¢oiifa=r s
(©) ===t Gz @y
(D) IRz

e Mov-am 1w v wivs

79. Hm’ e
& ez e
(A) M 58 Tamoingmy
(B) I=mangg Senery
(C) Mg F=1er cxrg
(D) SroE=a wag

SIS 22w Aol
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80. The chopping of an onion makes one cry
pecause of the chemical containing

(A) Sulphur
(B) Chlorine
(C) Bromine
(D) Nitrogen

81. The following state is the highest producer
of tin in India : :
(A) Rajasthan
(B) Odisha
{©) Jharkhand
(D) Chhattisgarh

82. A person on a swin
period of the swing

(A) increases
(B) remains the same
(C) decreases

(D) becomes zero

g stands up. The tim

(

>

84. Who coined the slogan ‘Swaraj is my birth
right'?
(A) Vinayek Damodar Savarkar
(B) Vasudev Balwant Phadke
(C) Bal Gangadhar Tilak

MTS/21

g0. folare FHE ANY G TE TR T g3
A, TS AT
(A) FETER
(B) i
(©€) &=

(D) RGIE

2. (P AIEAW IGT AR @R B etz
@%ﬂumﬁmﬂ

) AT

(B) =% Uy
©€) I

(D) T3

83. o Redt ot o o WY P
T

(A) & . sreme
(B) R. & Rowrs
(C) oIHT oifz
(D) THETINT SEm

84, "TAR W AT Wik — ey
(A) R mams smemrem
(B) IFTR W TITn
€y W 2oy forn

Tire

(D) Balkrishna Chapekar

(D) IATR BiLeR

Please Turn Over
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85. Whom among the following historians does
not belong to the Aligarh School?

(A) Anil Seal
(B) Irfan Habib
(C) Nurul Hasan
(D) Athar Ali

86. In the Constitution of India, ‘Protection of
Life and Personal Liberty’ is guaranteed under
Article No.

(A) 21
(B) 49
(C) 73
(D) 370

87. Theleaderofthe Narmada Bachao Andol

“His Superfluous

is

(A) Anna Hajare

(B) Medha Patker
(C) Ramdev

(D) Binayak Sen

89. The ratio of the diameters
earth is nearly

(A) 1:2
(B) 1:5
C)1:4
(D) 1:8

of moon and

>

85. Wmﬁwaﬂwwwﬁwm

TILE T ¢
(A) e 3

(A) AT XA
(B) Gyt #NOTR
(C) AR

(D) R«1® oW

88, ‘TR IR T Ty SRy |
(A) MBS
(B) T3
(C) Arepeite
AD) ™A

89. 51 3¢+ G TR Wi 2T
{A) 1:2
(B) 1:5
(C) 1:4
(D) 1:8
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90. In terms of thermal cong
electrical conductivity (§), diam

(A) low k and high §

(B) high k and low §

(C) high k and high §
(D) low k and low S

uctivity (%) and
ond has

91. Researchers has
antibody of which virusin
cave?

(A) Nipah
(B) Ebola
(C) Covid 19
(D) Zika

discovered recently
bats from Mahabalaswar

92. The confluence
Alakananda is Jocated at

(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Allahabad

of Bhagirathi and

%4

93. In India, topographic s published
from the following organization

(A) NATM
(B) GSI

(C) 5@
(D) z

94. ough the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation.

(B) England won Super Overby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.
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90, wrfm fFafEet (k) a3 ofee wFzfRw
(5)-7 NATE BCFF (diamond) ACF
(A) R keTH S
(B) T ko 5 §
(€) T ke T &
(D) R kw8

19

(A) waEm-9

D (B) CFREMISN-q

(C) g
(D) M-

93. Trre AN siegt car A
TR SIS 7 ¢ e

{A) NATMO
(B) GSI
(C) SO1
(D) 2SI

94, @wwwmmwam 20199 ICC
@ Rwziol 2ES @ FeRem-ay T T, SIS

(A) TS wiTmreRs o foy |

(B) A -« IR 2eemie @ e |
(C) ¥ O (o |

(D) e wus-Reftr 3 2
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95, The Partition of Bengal was annulled in

(A) 1905
(B) 1911
(C) 1901
(D) 1947

96. Shanti Swarup Bhatnagar Prize is awarded

in the field of
(A) Peace

(B) Science and Technology

(C) Medicine
(D) Economics

97. A pendulum clock that keeps correct time

on the earth, is taken to moon. It will then run

(A) at correct rate.
(B) 6 times faster.
(C) V6 times faster.
(D) V6 times slower.

as ‘Grand Old Man of India’

(B) Surendran
(C) Gopal

(D) Dada oji

' one of the following sequence of the
Himalayan ranges from south to north is correct?

(A) Karakoram - Ladakh - Zaskar-

Pir Panjal

(B) Ladakh - Zaskar- pir Panjal -

Karakoram

(C) Zaskar- Pir Panjal - Karakoram -

Ladakh

(D) Pir Panjal - Zagkar .
Karakoram

Ladakh -

A-18
95, (A A IXASH I7 T ?
(A) 1905

(B) 1911
(©) 1901

(D) 1947

96. *HRrzet ST mg@mmmﬁ@
(a) =¥
(B) R&m ¢ ay®
(© fﬁ'ﬁmﬂr\
) @
3

_(B) 69T HEI|
<§ (C) V6 © &% 5HAT |

(D) V6 @ Btz 5o |

I o A I = 0
(A) [ACHA (oTISH
(B) REAI I
(C) coMoilrae Comze
(D) WMreRR ad

98. Which Indian Naﬁona@?i\\gﬁaw 98, (TN ST GO ST ‘&S evy
?
i
jee

99, W (T TG Ry sifomimiz RE RS
TR W i e

(A) FTATIIAN - 7MY - GIHE - Neeiiene
(B) #MIY - st - Maonam - scEmm
(C) VIR - SAwoitee - TR - 7N
(D) ARNenet- wrH - AN - FrIAS




100. According O WHQ, ¢
virus responsible for Covi;:l-hl%octl‘ﬁ

(A) SARS‘COV..Z
(B) Covid-19
(C) nCovid-19
(D) Corong Virus

' cial name of'the
ISease jg

101. Whatis the

limit o
small enterpriseso fthe Annual turnover for

(A) 5 crores to 75 crores fupees
(B) less than 5 Ccrores rupees

(© Between 75 10 150 crores Tupees
(D) Between 150 to 200 crores rupees

102. The variabiji

i MTS/21

100. WHO-93 t® Covid-19 QRSR &= Wi
eiRamita SfEFms 99 2=
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) IR SRAA

{A) 5 @

India would be morlg:ril:;?xiﬂigu;ﬁgr‘;ﬁl:t in 19T T RBATSR SO A4S
(A) Kolkata B
(B) Ranchi % {A) = -
(C) Jodhpur Q (B) Hifors
(D) Lucknow [ (C) sy
(D) =rt-q
103. ‘Dandi ch’
movement? Mareh ;2%35“?1{:1 ‘;LN@:W @M AT e
(A) Swadeshi
(B) Non-c (A) W-WW
(C) Civi AB) SerRzals! witate
(D) (C) I3 =y i

104:;Who is the present Chief Election
CommuSsioner of India (as of June, 2021)?

(A) Anil Chauhan
(B) Sushil Chandra
(C) Sunil Chandra
(D) Anil Malhotra

(D) SIS RISt Sicwism

104, June, 2021%%@%%@
TP

(A) Sfve Grm
(B) A= v

(C) 7 v

(D) e e

Please Turn Over
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105. A heavy body and a light body have equal
kinetic energy. Then

(A) heavy body has greater momentum.

(B) light body has greater momentum.
(C) both have equal momentum.

(D) both have same angular momentum.

106. Which part of the world was the agenda of
Khilafat movement involved with?

(A) India
(B) Arab
(C) Iran
(D) Turkey

(A) Light year

A-20

105. «¥ ©ft IF ¢ T I I qpy
s TR | I
(A) S T TEF SIS AR |
®) STl TB0T 4T SAR AT |
(©) LiEAESREEISREE

(D) mlﬂ@@ﬁaswgmml

A

106. WW c-ﬁmwm@ﬁﬁm

(A) ORI
(B)
(C)

A) TEeTE

107. Which of the following is not a unit ?@1 AR T (D HOIT G T2
distance? '

(B) Parsec
(C) Furlong
(D) Jiffy

@@

108. Largest wind f: is located in

(A) Tamil
(B) And

109. Nameofthe Supercyclone “Yaas’, was given

(A) India

(B) Oman

(C) Sri Lanka
(D) Bangladesh

D (B) ARG

(C) TR o
D) &

108. SrTen 378w IPIE Besim @ oS
(A) CifEmIers
(B) rmeivae

(C) T2
(D) wEHn

109. "Yaas’ T G 1511 tw, 7w fiae
A) ©iIe

(B) euq
(C) Rergi
(D) At

-
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110. Which Bengal poet composed the song
‘Baneshechhe mora gange’ during the Partition of
Bengal?

(A) Rabindranath
(B) Lalap Fakir

(C) Kazi Nazrul 1slam
(D) Mukunda Das

Tagore

111. The bou

ndary line of Sundarban was
demarcated by

(A) Hamiltog Saheb
(B) Major Willi
(C) Scott

(D) Dampier ang Hodges

am Tolly

112. Which among the following novels of
Sarat Chandra vividly reflecteq the revolution
movement of Indja?

(A) Srikanta
(B) Pather Dabi

(C) Palli Samaj
(D) None of the above ‘:

@ of Republic

113. Who was the
Day, 2021 in India?

4. Kurnool-Kudapa Canal is taken off from
thefollowing river :

(A) Cauvery -
(B) Krishna

(C) Tapti

(D) Tungabhadra

MTS/21

110. IXSTE A FF A IR “IN iy
m*ﬁt@”mﬁmm?

(A) 2R SR

LR

ST =18 2ifozreT o 21 Pifee o
N A) S

(B) #ram wid

(C) ~iarre

113. 2021 A1ts Srres TSR 1 Svatonerg fi
AN ST G ey o

(A) A 2geifs
(B) ez ey

©) LhIER e
D) Toimm @R

114, RufRe @K U TIA-TOA 2Nt ot
T 3
(A) IR

(B) T=
(C) =&

(D) pxsat
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115. A battery consists of 10 cells, each of emf
1V.1f 2 cells are wrongly connected, the emf of the
battery becomes

(A) 8V
- (B) 10V
(C) 6V
(D) 12V

116. What proportion of the Insurance Premium
payable for Swasthya-Sathi Scheme is borne by
the State Government?

(A) 50%

(B) 75%

(C) 100%

(D) None of the above

117. Which animal was part of the symbol of

Netaji’s INA Flag?
(A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

118. Dilatometer is usedforthe measurement of

(A) electrical €ne
(B) mech gy
(C) dimensi hange in material

& energy

119. Bengal Revolutionaries were largely
inspired by which Revolutionary movements of
Great Britain?

(A) Scottish

(B) Irish

(C) Welsh

(D) None of the above

@@

P
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115, @zl HioRETS 10T G R I 2fify
Sfeste 371 @ 1V I 2 @ oToi st
oI, Sieg B SIBETE 9 3

\Q

116. PR FISICTH w&&r‘r et
RffmE I O A

\0
O

(A) 50%

118. R=GIRGR (Dilatometer) FER ~ARTA
IR T ?
(A) ofte *f&
(B) TfE =&
(C) “Aaitda TS ARTEA
(D) S W&

119, i Redat b RGeEe @F ([ARE gEE
TR SRS R ¢ -
(A) =0

(B) wizfa

(C) T
(D) T @I 7F




120. Money Bill is finally determined by
(A) Prime Minister
(B) Specaker

(C) Leader of the opposition party
(D) President

121. Dry ice means
(A) Ice at -23°C
(B) Ice at 4°C
(D) Solid CO,

122. The Election Commission is constructed
by the

(A) Vice-President
(B) Prime Minister
(C) President

(D) Chief Justice of India @

123. Who propagated
and about which organi

% ¢
?
(A) A. O. Hume, ab
Con
(B) Lo u
au
(C , Tegart for Zamindari

1ation
@i)rd Macaulay for British-India
ague

124, What was the ‘Eka Movement'?
(A) A Religious movement
(B) A Peasant movement

(C) A Secret revolutionary movement
(D) None of the above

ety valve theory’
Indian National

rin about Indian

A-23
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120, TdR? poresd AR Tzm

(A) 2E@TR

(B) ™A=

(C) R werrrs

(D) IS &®

121. O% T T
(A) =23°C

(B) 4°C
©)
(D)

TR N7 IR
(A) Toragafd

N (B) oy

(C) ZjS
(D) ©rRTS7 2y Ree

123. @@ 2fSom AooirE Grof err oy’ 2o
PR ¢

(A) 9.6, TBEw, ¥y endim e soos
(B) #16 TIHfaR, ©Iw o Sovr

(C) vWf% BHfT, wRmiR souirs

(D) E (e, RS2 Mt oo

124, ‘gt wivaes” H fReve
(A) wafd ¢y wraew
(B) @3 ga= wrmww
(€) «all (em ReE wewem

(D) Beiz iR ww
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125. The Nobel Prize in Literature 2020 was
awarded to

(A) Louise Gliick
(B) John Dranow
(C) Peter Handke
(D) Peter Ackroyd

126. Family Income Ceiling for Kanyashree
Scheme is not applicable if

(A) the girl is physically challenged.
(B) the girl is an inmate of JJ Home.
(C) the girl has lost both parents.
(D) All of the above

127. Who is the author of Allahabad Pillar

A-24

125. 2020 e A e ATE @ET 7
Yiez fofat o
(A) Louisc Gluck
(B) John Dranow
(C) Peter Handke

(D) Peter Ackroyd §

Inscription?
(A) Rudradaman <§ (B) TR
O e opta (C) TEed
(C) Samudragup (D) ATET

(D) Banabhatta

128. Pakistan Resolution was
(A) 16th August
(B) 26th Jan

(C) 14th i 2
(D) 23rd@940

129. Khajuraho, ‘the City of the Gods’ a UNESCO
World Heritage Site, the name of which was first
referred in the 1 1th century CE by

(A) Ibn Battuta

(B) Ibn Sina

{C) Abu Rihan Alberuni
(D) Omar Khayyam

@@g

128, fimferfie m iy FifFew 291
(resolution) (Re¥ TARA?

(A) 16% =995 1946

(B) 26C1 SR 1935

(C) 14% «ferer 1942

(D) 23c% W6 1940

129, BwrER «E WAl UNESCO §i3s R
@ AigS, @b G werE sy Brrd I
A, R wm

(A) T TP

(B) & At

(C) iy Frzm el

(D) @7 AW
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130. President of India is elected by
(A) Members of the Parliament,
(B) Members of the State Assemblies,
(C) Directly by the people.
(D) Both the Hoyses of Parliament along

with the Members of the Stat
Assemblies. ° e

131. Gandhiji was influenceqd by
(A) Tolstoy
(B) Dickens
(C) Marx
(D) Lincon

132. The spectrum of color in Compact Dj
(CD) is due to P e

(A) Refraction
(B) Reflection
(C) Diffraction
(D) Polarization

i133. Sharavati Hydroelectri P'di%% ated
n:
(A) Kerala %

(B) Karnataka

(C) Maharas
(D) Madh@g
134, Whic'@;

first incident of a British
official’ S ion after the revolt of 18572
assination of British official W.C.
nd by Chapekar Brothers
B) Assassination of British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru
(C) Assassination of William Hutt Curzon
Wryllie by Madan Lal Dhingra
(D) Assassination of British police officer
Jackson by Anant Laxman Kanhere

S
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130. SRS AZAT® <o =
(A) AERICG AR B3l |
(B) e ROTTSIIE FWptvr T4
(C) TwolTldl IRl EEFFEI |

(D) IS A3 0] R ARl

@z(en)—wma‘ﬁﬁmmm

A) afes=e

(B) ef¥mem

(C) WoRER (JEw)
(D) RS

133, "8 GRS 2w e TS ¢
(A) =
(B) (s
(C) Tz
(D) Rgeirm

134, 1857-4% X &% W AW ToND
SIATSR T TISIHSIANT SRECT 51 I3 2
(A) R argacs [t = g, B
G- 7! .
(B) 1% e o ez arereszmm ffGt ffersr -
AR T TS TN
(C) =& facel T3 TRfemm ot e
TfH- zgon
(D) T7F T IR TS e e
T 2O
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135. Sabooj-Sathi is a scheme for distribution of
Bicycles to students of Government/Government
Aided Schools/Madrasahs reading in

(A) ClassesIX to X
(B) Classes X to X1
(C) Classes XI to XII
(D) Classes IX to XTI

136. The Asiad Gold Medalist Boxer passed
away recently at the age of 42. Who is he/she?

(A) Pooja Rani

(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

137. Who wrote Ramcharitmanas?

(A) Harisena

(B) Harshavardhana
(C) Tulsidas
(D) Joydev
dian Constitution

138, Article 18 of t
guarantees the right ¢

(A) Equali
(B) Fr
(C) @ f Religion

D) to Constitutional Remedies

139. The recently much talked about ‘tooikit’ is
basically

(A) an e-commerce platform for online
transaction,

(B) asocial media site meant for hackers,

(C) adigital equivalent of pamphlets and
fliers that helped mobilise protesters.

(D) an assemblage of sophisticated
electronic gadgets.

A-26

A e
135. ~{fF5am AN FAIEr- Ry
mmﬁgfm/ﬁmlﬁima &+ CE”‘IN 9”3'4‘3
Q- R e W

(A) e Gt Core P G

(C) @i (I (AT

138, R 18 T SR RS TR —
(A) A
(B) =B
(C) i TR
(D) *eifie AR witer

139, Frefbmmm IBHE ‘toolkit’ WIFE T

(A) st RFTmm vy ozl tamn
iy of

(B) @ oy« A Rftw Aied |

(C) fEfHSm soraetw T 2w westow
AT |

(D) wiibe XGRS YT |
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140. How many new Government Medical
Colleges have become functional in West Bcnga!
during the last ten years?

(A} 8
B) 6
)5
D) 3

141. Pure silicon at 0 K js
(A) semiconductor
(B) metal
(C) insulator
(D) superconductor

142. CentralRice Research Instituteislocatedin

(A) Curttack

(B) Dhanbad
(C) Kanpur
(D) Coimbatore

143. Indiais a
(A) Union ta

ation of states

144. The largest glacier of India is
(A) Pindari
(B) Gangotri
(C) Siachen
(D) Hispar

MTS/2]1

140. =i i IRA APGTICR ToGfH ToT Sy
cafbraa e Bie] THCRY
(A) 8
(B) 6
€) 5
(D) 3

141. 0K 9 Q151 o5 Z

(A) S=if:
(B)
©)

"

. CFRT 49 RN ALY SR_B®
(A) o=
(B) 43w
©) Ta9
(D) FTrIRE

143, SIS 3

(A) AIEPTEER Ay
(B) T&AIg

(C) A 3™

(D) wIas

144. SRToT 743ze B oo
(A) Frarfd

(B) =il
(C) =
(D) B
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145. New Delhi, the new Capital of India was
inaugurated by Lord Irwin in the year

(A) 1905
(B) 1911
(C) 1931
(D) 1947

146, A spring of spring constant k is cut into two
equal halves. The spring constant of each half is
now

(A) k

(B) k/2
© 2k
(D) 4k

147. What was the major symbol of Mahat <

Gandhi during his non-violent freedom strugg
(A) His looking glasses
(B) His charka (spinning whe

(C) His walking stick
(D) His cap

148. Solderusedf
is an alloy of
(A) Fe
u

(B) @
C
(D) d Pb

149. Hydraulic press is based on
(A) Archimedes law
(B) Pascal’s law
(C) Reynold’s law
(D) Bernouli's law

ing metal parts together

145, SIRTSA AT mﬁlﬁm‘%%m

Sen
(A) 1905 I

(B) 1911 A
(C) 1931 M
(D) 1947 ST

&

\47. NI S TR SIS T 2S5 3t

%f’q&[f

(A) SIF o=l
(B) $17 551
(€ SH el
D) S| G

148. 4199 S (HCIT & JITT TEE G
AFAL

(A) Fe @32 Cu
(B) Fe 9% Zn
(C) Sn9ge Cu
(D) Sn 92 Pb

149. ZREFT cATAR TS fSfE =
(A) wIRREET =

(B) =I==4 3@

(C) E=Tsa 5=

(D) AR o5



150. Who foundegd

the Asj
Calcutta? !

(A) Alexander Cuaningham

(B) John Stuart Mill
(C) William Jones
(D) David Hare

151. The highest peak of
(A) Mahendragixi
(B) Nilgiri
© Jindhagada
(D) Anaimudj

152. Vikramsila Bihara was fo
(A) Devapala
(B) Dharmapala
(©) Rampala
(D) Sasanka

133. Who has been nam%tain of the
Indian Men’s Hock

the Eastern Ghats is

A-29

atic Society in

unded by

\

150.

153. i (BiiRee e B omy

ST 7 o
‘ eam for the Tokyo mwﬁﬂwﬁmﬁmmﬁwﬁm?
Olympics? (A) W8S fyg
(A) Man h
i ySfach B) WA B
(©) 5. 9. Aoy
(D) " Apet

154. Ratioofthermsspeedandthe mostprobable

154. S BICI S & rms @5 9R mos
speed for molecules in an ideal gas is

t
probable (L7 S 7| :

(A) V3:1 (&) 3 Y

(B) 1:3 B) 1:¥3

©) ¥3:2 (©) V3:42

D) v2:43 @) ¥2: V3
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155. Siachen glacier is located in the following

range :
(A) Karakoram
(B) Zaskar
(C) Pir Panjal
(D) Shiwalik

156. Who said,"Ancye for an eye will make the

whole world blind"?
(A) Martin Luther King

(B) M. K. Gandhi
(C) Nelson Mandela
(D) Karl Marx

157. Which commodity tops
imported commodity of India?
(A) Gold
(B) Platinum
(C) Petrolium products

(D) Petrolium cmdﬁ@ﬁi

158. The following(fiver diyides West Bengal

and Assam :
(A) Raij
(C ni

)

159. Who among the following freedom fighters
dld. not belong to revolutionary (militant)
nationalism?

(A) VeenaDas

(B) Santi & Suniti
(C) Matangini Hazra
(D) Kalpana Datta

the current list of C

A-30

155. Prm= AR R sfemfis
(A) TIATIAN RS

(B) TIHIE
(C) Asiigi=

%11: Y Stars SIS oo TR wug (i wfo
A ?

‘ (A) GT=l

(B) =AM

(C) AT sty

(D) =CAIfEs AR AU

158.

s TR0 SR 8 WS U
FLAR S

(A) TG
(B) s
(C) e
(D) @=

159. BrERe @R FATS AT T faed
EeroRITy i fare= wie

(A) et @

(B) =¥ 8 FAS
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160. A boat floating in a tank is carrying some
passengers. If the passengers drink water from the
tank, how will it affect the water level of the tank?

(A) It will go down.
(B) It will rise.

(C) It will depend on the atmospheric
pressure.

(D) It will remain same.

161. Inflation is
(A) one time price level rise.
(B) increasing profits in production.
(C) increase in deficit financing,
(D) continuous increase in price level.

162. The Valley of Kashmiris located in between
the following ranges :

(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram

(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik S:

163. Who was the G

or General of India
when Gandhiji initi

ivil Disobedience

Movement?
(A) Lo
(B) L
(C lithgow
(D) Lord Irwin

164. The ChiefJustice of High Court is appointed
by the

(A) Prime Minister
(B) President

(C) Chief Justice of the Supreme Court
(D) Cabinet

MTS/2]

160. (TR TEUITI SPIS A N WAt 7
TR (/TS T I, S ST SR (Fios
I

(A) 5 (T IR

(B) Toltz B3|
(C) INERT bieetz Gorm @wu
(D) 9T AT | &

(A) ST 8 AN
(B) ai=ig @ Al
(C) FITPRAN @ FaifeE
(D) &FR ¢ Pl

163. Sl - ST RIS STw & sreia
(eI e e

(A) =6 3y

(B) =76 firt

(C) =7 TmfFHersy
(D) =76 WiaGeA

164. TG 24w Remefs fge ==
(A) FuF=ER AR
(B) WigS7 wran
(C) V8™ @R 2y ooz =l
(D) HREG-97 ar=1 _

Please Turn Over



P
MTS/21 A-32
165. The freezing chest in refrigerator is kept 165. EfFsiehea = _
near the top because AT FFS TT— @ (freezing chest) Borg
(A) itis convenient to usc. A
(B) it reduces cost. (B) RS IR T WA |
(C) it cools the remaining space by the (B) FU QT A |
process of conduction. (€) A= Ngw A e
FEA I ’

(D) convection currents are set up.

166. Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh
(C) Dwijendralal Roy
(D) Dinabandhu Mitra

167. A vehicle covers half the distanc
r half with\bni

uniform speed v, and the othe
speed v,. The average speed of thie ve

168. The bi . .
4625 is e binary equivalent of decimal number
(A) 100-001
(B) 100-110
() 100-101
(D) 100-011

wifirs AL 41625499 3fEAI (Binary) 9

168.
=5 .
o
(A) 100-001 '!“93_
(B) 100-110
(©) 100-101

(D) 100-011
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Which Turkish Sultan introduced the Iqta 169. &=

” TR ST T 3
(A) =IEeRE Retfy

(B) A

MTsp;
AET Ty

m?
$$9°7 ) Alauddin Khilji

() Balban

(©) Itutmish (C) Fergehn
D) Muhammad Bin Tughlaq (D) v = geers @

170. Which Muslim general conquered Bengal
in the thirteenth century?
(A) Timur
() Igtiaruddin Bin Baktiar Khilji
(C) Chenges Khan
(D) Abdur Rahim Khan i Khanan

N

171. When did Sakabda commence? D 171, *IE I I WO ?
(A) 78 A.D. (A) 78 AD.

(B) 78 B.C.E. @9 (B) 78 B.C.E.
(C) 178 B.C.E. (C) 178 B.CE.
(D) 178 A.D. D) 178 A.D.

172. TR W% WEGIRS (I STHEET
I G 2

s (A) T GIA
( P! (B) FHeoE TP
upnsmg (C) m—,ﬁw
(D) kh isi
urkha uprising D) cotrdl T

173. Who was the hero of Rampa Rebellion of 173. =i Taganag A e (1922-24)°

1922-249 (A) TR Pt AR
(A) Tanguturi Prakasam Pantulu (B) Tt FNEME
(B) Tiruppa Kumaran e
(C) Puli Thevan « :E’Iﬁ st 7 TE
(D) Alluri Sitha Rama Raju ® - ' o
ver

Please Turn



MTS/21

174. Tbn Batuta came to Indi
rulers’ reign?
(A) Akbar
(B) Sher Shah
(C) Muhammad Bin Tughlag
(D) Alauddin Khilji

a during which

175. When was the First Industrial Policy

resolution taken?

(A) 1956

(B) 1947

(C) 1948

(D) 1951
176. A ladder is kept against a wall. The top of
wall at a height of 270 cm

the ladder touches the
from the ground. The
away from the wall on

of the ladder.

(A) /53682 cm.
(B) J5—3_16_4- cm.
(C) J75816 cm.
(D) /82547 em.

177. Mohantakes 6 hours
10 hours to do the same job.
take if Mohan and Laltu work t

job?

base of the ladder is 54 cm
the ground. Find the length

i %ﬁkes
lo hould it

er the same

1
(A) 12 hrs.

(B)

(
1
) 33 hrs.
178. What is the missing number?
1,2, 10,37, 101, 7
(A) 320
(B) 226
() 206
(D) 402

S.

A=

174. 3=R LT @H FWET FEIE SRy
CleCE : ‘
(A) WRRT
(B) ™R
(C) vzu% 3 Pe=ie
(D) TS Rt
175, (¥ LI el FwAIed FA T
(A) 1956 A
(B) 1947 3IA
(C) 1948 @9
(D) 1951
FAA SE | Bo7
o (AT

(B) /68164 cm-
(C) /75816 cm-
(D) /82547 cm.

waﬁwmﬁﬂﬁﬂmm,ﬁﬁ?
D TACS TS A (AT

~
(e

\O

N

177.
7 10 9951 | T G

1
(A) 1-2- %!

-

r.‘
3 b
®) 37 !
1
©) 2&"‘1‘?

@) 33 T

178. v B T (@I G AT
1, 2, 10, 37, 101, 2
(A) 320
(B) 226
L) 206

(D) 402



«school’ is related to ‘Student’ in the same
"« ‘Hospital’ is related to
(A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

way a8

180. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C).Rs. 200
(D) Rs. 400

181, What is the missing number?

@4@’

(A) 3
(B) 12
ichisthecorrect

© 5
D) 1

182. Exclusive Pro
option?

Every non-student is a genius.

183, i
il beTOdaY is Thursday, the day after 59 days
(A) Sunday
(B) Thursday
(C) Friday
D) Saturday

s N

182. 1 YA dferm 771
GUFCT ABT G AGF?
(A) el gia AfseRE TH |
ABY 9 wiez 2fSsrE 731
(C) u=e g ™|
(D) A BT T S AONFE ACSRA |

183. orer J2ifSara Tt 59 i +ica B W TR
& Ram
(B) FE=ifeam
(C) e
£B) =i

Please Turn Over

MTSs/2;

179. ‘School’ qf7 ‘Student’ 7w, vy Hospital' §
A

(A) Medicine

(B) Nurse

(C) Doctor

&) Patient @

180, ST 10 ST 100 @™ fReeis Bizst
TS AR I 3R el IREGE gto
IR 5 <D e P B 2 9%
WWlw@ ey 3 Gl 2,400 5/
MR @b AL

(A) 3@ IR e
%‘“ f) ?W,Q“:ﬁb o
P
) 400 B 6 7
x | (Y] ’T
<§ 1. ¥ BfFS FE oM ARy 732 2% ﬂg_
32,19,8, 7 ~a T\
(A) 3 '
(B) 12
© 5
D) 1
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184. How many times do the hands of a clock

coincide in a day?
(A) 24
(B) 20
(©) 21
(D) 22

185. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A) 70%
(B) 68%
(C) 73%
(D) 64%

186. Choosethewordinthe option thatis f;
in meaning to the capitalised word.
WINSOME
(A) INSIPID

(B) UNATTRACTI ?
(C) PREJUDICE

(D) OPPOSITION

187. The ratio of ¢ h to 4 feet will be

(A) 1 :
2

(C .

(D)

188. Given set (8, 3, 2) then follows
(A) (168, 15, 6)
(B) (95,24,5)
(C) (63, 8, 3)
(D) (15,6, 5

A-36

184, ﬁmw%%ﬁrzﬁwﬁmm
?

(A) 24
(B) 20
(©) 21
(D) 22 §
\8
185. 1500%a= NCC-(os 71y y;
TR | FS =[O TaE e

- L
(A) _ ,\) e '
- :§ 7 4O o
(B 8 ’ f}: 1 @i - s
) 9 }‘f’l:/‘t-"?( ,‘.I- ﬁ"‘ N
g@i 25O
' %

\ss ‘WINSOME’ *={ba S50 73! 4 7z
Y BT IR =AG 2

(A) INSIPID

(B) UNATTRACTIVE

(C) PREJUDICE

(D) OPPOSITION

187. 6 %% € 4 TH TGS T 2
(A) 1:6
B) 1:4
Ly 3:2

r}
(D) 1:8 6,

-

188. (8, 3, 2)— W% GO A I AR AT
Telt P == |

(A) (168, 15, 6)

(B) (95, 24,5)

(C) (63, 8, 3)

(DY (15,6, 5)



189 Should the number of holidays of

' employees be reduced?

1. Yes: Our government employees
are having the maximum
number of holidays among
countries of the world.

2. Yes: Itis a sign of British legacy
which should be carried
forward.

3. Yes: It will speed up work and all
pending jobs can be
completed well in time.

4.No: Employees must be given
ample spare time to spend

_ with family.

(A) Only ‘1’ and “3’ are strong.

(B) Only ‘1’, ‘2" and ‘3’ are strong.

(C) Only ‘2’ is strong.

(D) None is strong.

ovemme“t
Mgumerlt:

u »
father is my son”. How is ‘Meghna’ re

girl in the picture?
(A) Mother
(B) Aunt
(C) Cousin

(D) Grandm r

190. Pointing towards a girl in the pi€tur
Meghna said, “She is mother of °
ed e

191, A @ 'mlong.Itisrunningata speed
of4] kmph. AJman is running at 11 kmph in the
e ction as the train. In what time will it pass

e m

(A) 18 seconds

3
B) -=-
(B) 10 seconds

1
C) —
© 200 seconds

(D) —I‘ﬁ- seconds

N

N 190. =3t O/b (A MR CR 56, “4FF
YT A A IR AW @ | RS9 (o Ay
A § T e

g = 9
(B) Tt
(C) YT AR

(DY o

191. @35 GrE W 150 m| «f67 SRR
41 kmph | &% TR 11 kmph st fTs GAOT
SfearE (ot | 6 7w Gfs & e ofea™ -
TIIY "1'

—

(A) 18 seconds — 157

3
(B) 0 seconds

1
© 300 seconds

11
(D) Tl seconds

Please Turn Over
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192. Given set (7, 77, 140) then follows
(A) (9, 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

193. Should seniority be the only criterion for
the promotion?
Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.
Otherwise senior employees
may feel humiliated.

Senior employees are more
experienced and must be
rewarded for the same.
(A) Only ‘1’ is strong.

(B) Only ‘1’ and ‘2’ are strong.
(C) Only ‘1’ and ‘3’ are strong.
(D) All arguments are strong.

2. Yes:

3. Yes:

194. ‘DUMA" isrelatedto
way as ‘ECCLESIA’ is related t

(A) Bhutan
(B) Afganist

(C) Gree
D) Ger@,
cmposition: Whichis the correct

option?
If a person is rich, he has lot of influence,
(A) Alok has a lot of influence, so he is
rich.
(B) Ifapersonisnotrich he does not have
a lot of influence.

(C) Tapas is rich and so he has a Iot of
influence.

>

N

(D) Poor people cannot have influence.

192. (7, 77, 140)— % GO SPTAY 38 Apa
Afbe Taals e T |
(A) (9, 88, 180)
¢B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4,10, 160)

193, @iz (Seniority) ﬁs% GG =16

9

(B) @3 ‘1’ 8 2’ 759 Q[ Ay |
(C) @3+ ‘1" @ 3" 793 (I & |
M) eor’ e ATy |

‘1’ 793 @ I |

194. ‘DUMA’ 3 ‘Russia’ %=, (3 ‘ECCLESIA’

I A
(A) Bhutan
(B) Afganistan
(C) Greece
(D) Germany

195, 9% F 4, OF AT A IR

T AT TG ASE?

(A) STAIEE S 2o ST 12 &1 4 |

(B) I T IR 45 7 W oW S ST
AT T T |

(C)IoP 4R @R TR O WAF 2T
=iTE |

(D) "3 yET 217 TS i 1|
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6. Pointing to a gentleman, Somenath said
«fis only brother is the father of my daughter’s
father”. HOW is the gentleman related to Somenath?

(A) Brother-in-Law
(B) Uncle

(C) Grandfather
(D) Father

197. Naseer started from ‘X’ point and walked
straight 5 kms west, then turned left and walked
straight 3 kms and again turned left and walked
straight 7 kms, In which direction is he from point
X'?

(A) South-East
(B) North-East
(C) North

(D) North-West

198. A building which is 64 feet high
shadow of length 96 feet. The height of teléphon

tower, which cast a shadow of leng ,
under similar condition is

(A) 80 feet Q‘QF

(B) 100 feet
(C) 120 feet
: Whichis the correct

(D) 90 feet

199. Exclusive iti
option?

Many get cancer.
( patients are smokers.
@st smokers get cancer.
oking may lead to cancer.

(
&) Smoking is injurious to health.

200. Today is Monday, after 61 days it will be
(A) Wednesday
(B) Saturday
(C) Tuesday
(D) Thursday

196. <3 SHEIRFTE Mgy,
qwﬁmwm?;im%”% {
Y GIRAIRE B oy T gy 7

(A) =

_(B) ==t
(€} forerrg
(D) I

> 198. 64 F6 T @ Aex = o 06 35 &
G2 78 180 T6 936 Glerre Srenrz v
TS AT 2.0

(A) 80%5
(B) 100%%
€€) 120 %5
(D) 90 ¥

\ﬁMé'i’f.

199. S=F GIARIE FIFPIE 2 |
QUFGE A 0 AT
(A) TR AL LA
BY @Fasts gRstifiv IR H|
(C) qwﬂmmmaﬁmﬁwml
D) (ol TG AT oA |

200. ST GIRIT A 61 fa oF i I TI?
(A) 3=
(B) *f3R
(C) SR

@) IT=ifead




